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1. The area of ®D in term s of 7. 2. The circumference of OT in which A = 167w mm?.
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3. Speakers come in diameters of 4in, 9in, and 16in. Find the area of each speaker to the nearest tenth.
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#4-7 Find the volume of each figure:
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7. A cylinder with base area 196 cm? and

5. A cube with edge length 22ft. height equal to the diameter.
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8. The edge lenth of the cube is tripled. Describe the effect on the volume
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9. Find the volume of the composite figure. Round the nearest tenth.
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10. A rectangular pyramid with length 25cm,

width 17cm and height 21cm.
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11. A regular triangular pyramid with base edge

length 12in, and height 10in.
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15. Find the volume. Give your answer in terms of .
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16. The volume of a sphere with great circle
areas 367 in’
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12. A cone with diameter 22cm and height
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13. A cone with base circumference 87m and a ;,7‘
height 5m more than 1 the radius. 4
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14. Find the volume of the composite figure. Give your answer in terms of 7z
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17. The volume of the hemisphere b @ o
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